DIvISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH 1 TO 10 Hame
Time: Score: J
121) 64583 =+ 10 = 136) 85307 + 9 =
122) 55068 + 6 = 137 6047 +4 =
123) 41580 =— 7 = 138) 24090 +— 10 =
124) 15657 + 8 = 159 3857 + 3 =
125) 2046 = 3 = 140) 56732 =8 =
126) 30743 = 7 = 1) 17166 — 6 =
121 84709 + 10 = 12 18911 +5 =
128) 289211 = 3 = 143) 13312+ 9 =
120) 17763 + 7 = 1) 9947 + 6 =
130) 12624 =5 = ) 2102 +2 =
131) 8455 =~ 1 = 16) 11156 + 3 =
132) 5815 = 3 = un) 8274 + 7 =
133) 38686 + 4 = 1) 6H774 + 7 =
1393999 + 4 = 19 370 + 3 =
135 235 = 1 = 150) 37580 =4 =
Mathematics: Division - Level § - Horizontal - Set 3 6 culu
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